2000 = =0 &k =E I 22

A EE 22

B~

el e (=2 2el) (ctel: &
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

sZa2telu 3,046,711 2,765,062 281,649
= 2,990,531
Al 56,180

=&ze] 834,711 806,062 28,649
= 778,531
Al 56,180

S 2el X (=2 d2el) 834,711 806,062 28,649
= 778,531
Al 56,180

AP B5(BR) 834,711 806,062 28,649
= 778,531
Al 56,180

101 @Il 4,000 4,000 0
= 4,000

10 JIZtHZ2Z2NSES 4,000 4,000 0
OuaEERN B2 oY 4,000
= 4,000

201 Lpt3H| 18,000 20,412 A2,412
= 16,000
Al 2,000

01 At 2eld] 17,900 20,112 N2,212
Oget=ZH| 17,900
—2539 oHB B2 S &X 16,700
= 14,700
Al 2,000
— 225 (H2, %00, &8 5)7¢ 1,200
= 1,200

02 23223l 100 300 A200
O33g= & AMA 100
—E539 x4 M) Y HMIRS 100
= 100

202 O4Hl 4,000 4,000 0
= 2,800
Al 1,200




A EE 22

B~

el SHBEXR (SEHABE) (el Hg)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

01 =2WAbI 4,000 4,000 0
O=2LHAHHbI 4,000
2 2,800
Al 1,200

207 AR INEHI 110,000 0 110,000
= 110,000

01 HAxES<2H| 110,000 0 110,000
Oz AMdgEHE 884 110,000
= 110,000

401 AlZHIZLE204Y] 698,711 777,650 N78,939
= 645,731
Al 52,980

01 Al&H| 693,711 772,650 A78,939
Os 42X FAXAGHSHE) 693,711
= 640,731
Al 52,980

03 A&y 5,000 5,000 0
Oatx2e| X FAXBHSHS) 5,000
= 5,000

MRES (st 22) 2,212,000 0 2,212,000
= 2,212,000

LHEHH XIS (=ZE ML 22]) 2,212,000 0 2,212,000
= 2,212,000

HEHHX=S(EX) 2,212,000 0 2,212,000
= 2,212,000

404 ZSIGN2EE2 2,069,000 0 2,069,000
= 2,069,000

01 ZBIIEELEIHAN=2REES 2,069,000 1,959,000 110,000
OstEII=AIEEX 934,000
—DISot=S&XI(YD], & 2,0t) 241,000
= 241,000
—otY ot=2H &Xl 630,000
= 630,000
—JI=2XF ot &X 44,000
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143,000
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